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Instruction for Question Nos. 21 to 25 :
Read the following passage carefully and answer the following questions that follows :

Education is a device for helping @ man to grow to his full stature. It enables him to realize his nature both mentally
and spiritually and in that realization to become all that he has it in him to be. Itis to the child what perfect gardening
is to the tree, a help so to grow that it may develop its own personality. A good gardener helps each plant to put
forth that essential quality of its own that differentiates it from all other plants and makes it a thing of use and beauty
in the world. The good education performs a similar office for the human being.

To the man of trained faculties and developed tastes the world becomes literally a larger place, larger and the more
exciting. He is able to see in it more beauty, more variety, more scope for his sympathy and understanding than
he saw before. So far as the understanding of the universe is concerned while education diminishes certainly of
what is, it widens his sense of the possibilities of what may be and transforms the world from humdrum scene of
workshop, factory and office to a universe of mystery and treasure house of beauty.

21. Education enables a man 22 \What an educated man is able to see in the world ?

(a) To realize his nature both mentally and spiritually (a) Mountains, hills and bushes
(b) To become a gardener (b) Roads, meadows and inns ,
(c) More beauty, more variety, more scope for his
(e} To berphysically stiong sympathy and understanding than he saw before

(d) To become a successful person (d) Rivers, lakes and rocks




23.

24.

25.

26.

27.

28.

The passage “universe of mystery and a treasure

house of beauty” means

(a) Helping a man to develop the best in him

(b) Universe full of mysterious and beautiful things

(c) Education of universe makes a man wise
and beautiful

(d) Education of universe makes him bounteous
and large hearted

What is the work of a good gardener ?

(a) To help each plant to take water

(b) To help each plant to put forth the essential
quality of its own

(c) To help each plant to grow

(d) To help each plant to be green and healthy

The world becomes a larger place and the more

exciting

(a) For a wrestler

(b) For a thief

(c) For a cheat

(d) For a man of trained faculties and developed
tastes

In the sentence, “he finished the job at one go”,
the word ‘go’ is

(a) Verb

(b) Noun

(c) Adverb

(d) Adjective

Change the sentence “I never eat meat, he
explained” into indirect speech.

(@) He explains that | eat meat

(b) He explained to eat meat

(c) He explained that he never ate meat

(d) I explained that he never eats meat

The word ‘rendezvous’ means

(a) Endeavour

(b) A place appointed for a meeting
(c) A secret place

(d) Adventure

29.

30.

31.

32.

33.

34.

35.

RFL - II

Which of the following word is wrongly spelt ?
(a) Correspondence

(b) Conscience

(c) Occurrence

(d) Conveneince

SN

Change the sentence “let it be done atonce” into
active voice.

(a) Letit happen at once

(b) Do it atleast once

(c) Let it occur at once

(d) Do it at once

Punctuate the following sentence :
“Whatever is is right.”

(@) Whatever is. Is right ?

(b) Whatever. [s is right.

(c) Whatever is, is right.

(d) Whatever, is, is right

Choose the correct conjunction from the following
options to complete the sentence

“He got he was ill”.
(a) Until

(b) Because

(c) Although

(d) If

“White elephant” means

(@) Arare object

(b) An uneconomical possession
(c) An object that does not exist
(d) A useful possession

Choose the correct synonym of the word
‘abominable’.

(a) Disgusting

(b) Cold

(c) Abusive

(d) Hot

‘In the pipeline’ means

(@) In the process of being developed
(b) Partake

(c) Pinnacle

(d) Prions




37.

38.

39.

40.

41.

42.

43.

Which of the following is NOT an interpersonal
barrier in organizational communication ?

(a) Ethnocentrism

(b) Semantics

(c) Ingratiation

(d) Impression management

Highest degree of communication openness is
found in

(a) Informal communication

(b) Meta-communication

(c) Direct communication

(d) Indirect communication

Which one of the following behaviour is the most
appropriate for diffusing verbal abuse of co-workers ?
(a) Become defensive

(b) Get into debate

(c) Refuse to accept harmful language

(d) Keep aggressive body language

‘Proxemics’ is related to

(a) Neutral Communication

(b) Unidirectional Communication
(c) Verbal Communication

(d) Non-verbal Communication

The key element for effective interpersonal
communication is

(a) Abstraction

(b) De-sensitization

(c) Active listening

(d) Ego-centric reinforcement

Which one of the following is related with
organisational ecology ?

(a) Centralized Communication

(b) Upward Communication

(c) Lateral Communication

(d) Downward Communication

Smita reckoned sixteenth from the top and
twenty-ninth from the bottom among those who
have passed an examination. Six students did
not appear in the examination and five failed in
it. How many students were there in the class ?
(a) 40 (b) 44

(c) 50 (d) 55

Ravi started walking towards East. After moving
a distance of 1 km, he turned Southwards and
walked 5 km. Again he turned to East and walked
2 km. Finally he turned to the North and walked
9 km. How far is he from his starting point ?

(@) 7 km (b) 5km

(c) 4 km (d) 3 km
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44,

45,

46.

47.

48.

Which one of the following diagrams properly
represents the relationship among ‘Body’, ‘Ear’,
‘Mouth’ ?

(@)

2 @
Four men A, B, C, D and four women W XY, 2
are sitting around a table facing each other. If
i. No two men or women are sitting together.
ii. Wis to the right of B.
iii. Y is facing X and is to the left of A.
iv. Cis to the right of Z.

Then who are the two persons sitting adjacent
toD?

(a) Wand Y
(c) Xand Z

QO

(b) Xand W
(d) Wand Z

In a certain code, 15789 is written as XTZAL
and 2346 is written as NPSU. How will 23549 be
written in that code ?

(a) NPTUL (b) PNTSL
(c) NPTSL (d) NBTSL
Find the missing number in the following figure :
04 05 06
02 03 07
01 08 03
21 98 ?
(a) 94 (b) 88
(c) 92 (d) 86

Which one of the following refers to the ‘framing

effect’ in the context of decision making ?

(a) The way in which options are presented
influence the selection of option

(b) Choosing the option having highest
expected utility

(c) Akind of set points of thought in wrong
direction

(d) Looking for evidences that will confirm what
are currently believes
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50.

51.

52.

53.

54.

55.

. The tendency of members in a highly cohesive

group to lose critical evaluative decision
making capabilities is called

(a) Group think

(b) Assertiveness

(c) Group polarization

(d) Cognitive dissonance

The decision making style that “overly concerned
with keeping everyone happy” is called

(a) Conceptual style

(b) Directive style

(c) Behavioural style

(d) Analytical style

Which one of the following is NOT a rule for estimating
the likelihood of outcomes of any decision ?

(a) Assessing utility  (b) Representativeness
(c) Availability (d) Adjustment

In a valid standard form of categorical syllogism,
if predicate term is distributed in the conclusion,
then it must be distributed

(a) in both the premises

(b) in minor premises

(c) in major premises

(d) in none of the premises

Probability is an attribute of
(a) An inductive argument
(b) A deductive argument
(c) Disjunctive proposition
(d) Categorical proposition

Which of the following decision makers are tend
to be good at discovering creative solutions to
the problems ?

(a) Directive style decision makers

(b) Analytic style decision makers

(c) Conceptual style decision makers

(d) Behavioural style decision makers

What number would come in the place of
question mark ?

(b) 84
(d) 66
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51.

52.

53.

54.

55.
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56. If'A'is B's sister, ‘C’is B's mother, ‘D’is C’s father,
‘E'is D’s mother, then how isArelated to D ?
(a) Grandfather (b) Granddaughter
(c) Grandmother (d) Daughter

57.  If you write down all the numbers from 1 to 100,
then how many times do you write 3 ?
(a) 20 (b) 11

(c) 21 (d) 10

58. Choose the odd pair of words :

(a) Volume : Litre (b) Pressure : Barometer
(c) Length : Meter (d) Resistance : Ohm

59. Read the following statements -
I. Rama is older than Sonam:.
Il. Poonam is older than Rama.
lll. Sonam is older than Poonam.
If the first two statements are true, then the third
statement is
(a) True
(c) False

(b) Uncertain

(d) None of the above
60. Complete the following series with the correct
option :

3,2,6,8, 18, 40, ?
(a) 70

(c) 72

(b) 71
(d) 75
61. A shopkeeper marks the price of an article 20%
above its cost price. He offers some discount on
the marked price and gains a profit of 8%. Rate
of discount is
(a) 8%

(c) 12%

(b) 10%
(d) 15%

62. If'+' means ‘+’, '~ means %', ‘X’ means ‘+'and '+’

means ~, then6+10-4x 12 +6= 7

(@) - 32 (b) 32

(c)-414 (d) 48

2-2. then the value of - %° g
y x> +y

(b) 2/

(d) 1

63. If L=
X

equal to
(@0

© 3
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63.
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71.

72.

A and B are two sets. A has 10 members and
B has 18 members. A U B = 20. The number of
members in A B will be

(a) 10 (b) 12

(c) 8 (d) 6

The diagonals of a rhombus are 32 cm and
24 cm. Its perimeter will be

(a) 50 cm (b) 60 cm

(¢) 70 cm (d) 80cm

Two variables y and x are related as y = 5x + 4. The

arithmetic mean of x is 10. Arithmetic mean of y
will be

(a) 50 (b) 54
(¢) 29 (d) 46
The mean of first twenty positive even numbers is
(a) 20 (b) 18
(c) 17 (d) 21

Which one of the following is a paralinguistic cue
in communication ?

(a) Facial expression

(b) Gesture

(c) Tonal pitch

(d) Posture

In which type of communication network there is
likelihood of emergence of a group leader but lower
satisfaction among the member of the group ?

(a) Wheel type (b) Circle type

(c) Chain type (d) Barred type

Which of the following is an example of organisational
silence in upward communication ?

(a) Distortion (b) Delay

(c) Filtering (d) Lack of response

Which of the following is NOT a form of positive
listening ?

(a) Diagnostic listening

(b) Reflective listening

(c) Empathic listening

(d) Judgemental listening

Which of the following is NOT a communication
barrier related to noise ?

(a) Perceptual problems

(b) Information overload

(c) Dyadic archetypes

(d) Cultural differences
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77.

In the communication process, successful
transfer of message can be checked through
(a) Encoding (b) Medium

(c) Feedback (d) Passive decoding

Cross-departmental Committees are the form of
(a) Optimum Communication

(b) Upward Communication

(c) Downward Communication

(d) Lateral Communication

Aman pointing to a photograph says —“The lady in the
photograph is my nephew’s matemal grand-mother”.
How is the lady in the photograph related to the man’s
sister, who has no other sister ? She is

(a) Cousin (b) Sister-in-law

(c) Mother (d) Mother-in-law

Find the correct altemative from the following :
Ocean : Pacific : : Island : ?

(a) Greenland (b) Ireland

(c) Netherland (d) Borneo

Arrange the following in a logical order :
1. Frog

2. Eagle

3. Grasshopper
4. Snake

5. Grass

(@ 1,3,5,2,4
(e).5,3;1, 4,2

(b) 3,4,2,5,1
(d) 5,3,4,2 1

Amonkey climbs a 12 meters high slippery pillar.
In his first minute, he climbs 2 meters and in the
next minute, he slips one meter down. In this way,
how much time will he take to reach the top of
the pillar ?

(a) 10 minutes
(c) 12 minutes

(b) 21 minutes
(d) 11 minutes

Find the number of triangles in the following figure :

(a) 12
(c) 14

(b) 13
(d) 15
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N
mmﬁ@mwﬁmﬁ:ﬁ%\
T I gendt @

() T EHH G (b) HNEA gRT

(c) whigfee gra (d) Tafssrar fagssas gra

TR-favrfia wfifoat w9
(a) FsCa9 TEINUT

(b) e FENT
(c) et TEN
(d) TTfeeier TENoT 5

T st Tl BRE @ Ren su s -
“wicme # eRfa afer W w B A 2 7
RIS T 59 WiEe w1 39 Sl h 95T |
Ty g, e s s e e 2 2 .

(a) ==t 5 B (b) ¢ &

(c) Wi g (d) & &
frefafed 8 @ wd fees 1 =99 Hifte .
HEETR : S1Td HETETR : : g9 @ ?

(a) Freive (b) FERETS

(c) ieteivs (d) iR
e # aifdes s & safm $f .
1. We®h

2. 919

3. fem

4. Giq

5. uTH

(@) 1, 3,5,2, 4 (b) 3,4,2 5 1
() 5,31,4,2 ) 5,3, 4,2 1

T S 12 HiX 39 R @ W wear @ | e
fire & =g 2 wfiet wrqan § i ot e i 1
= e ST @ | 56 WE 98 Reey onw § @

% 3 W gg" SR ¢

(a) 10 fime (b) 21 fire

(c) 12 fire d) 11 fire
Freferiea sl & st 1 e 1 iR -
(@) 12 (b) 13

() 14 (d) 15




80.% Match the List—I with the List— Il and select the correct

81.

82.

83.

84.

85.

86.

87.

answer using the codes given below the list :
List -1 List—1Ii
A. All men are mortal. 1. Universal negative
B. No man are perfect. 2. Particular negative
C. Some students 3. Universal
are intelligent. affirmative
D. Some farmers 4. Particular
are not rich. affirmative
Codes :
A
(a) 1
(b) 2
(c) 4
(d) 3

NN
Bw-abh
MNWN O

The process of judging some problem situation
on the basis of its similarity with one encountered
earlier, is known as

(a) Anchoring heuristics

(b) Heuristics of representativeness

(c) Adjustment heuristics

(d) Availability

Which one of the following sometimes hinders
the problem solving ?
(a) Heuristics

(c) Analogy

(b) Mental set
(d) Algorithms

Which of the following decision making style takes

longer time ?
(b) Behavioural style

(a) Analytical style
(c) Directive style (d) None of the above

The proportion of various sectors in a pie chart
is directly proportional to

(a) Perimeter of sectors

(b) Angle of sectors

(c) Area of sectors

(d) None of the above

Mode of the observations 10, 11, 16, 17, 12, 13,
17, 16, 16, 12, 16, 10, 15, 16, 10 is

(a) 13 (b) 15

(c) 16 (d) None of the above

The principal use of ‘definition’ is to eliminate

(a) Logical forms (b) Rules of grammar
(c) Meaning (d) Ambiguity

Any valid standard form of categorical syllogism
with a particular conclusion and two universal
premises will commit the fallacy of

(a) lllicit major (b) Existential fallacy

(c) Hlicit minor (d) Undistributed middle
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A. @ 77 T g1 1. Seeadt fneTeres
B. %3 wgsy f i 21 2. siveard) fiemens
C. T fomnefi gfgnm 21 3. et ThRIeTS
D. %o fham oft 7 31 4. ivreATdt THRCHS
%
A B C D
@1 .38 4 2
(by2: " & 48
(c) 4 ein@i a2
()8 i 402
Toret wmea 1 foufa o o & @ < wit T
B T & YR | wfsham =t Fad §
(a) STTHIAV WY
(b) w1 @Y
(c) RS @y
(d) Ut

Frafafaa & @ S=-a1 guwn gayE 8§
Ffi-hft ST I AT R ?

(a) @Y (b) YR fam=ma

(c) HrgRET (d) Teiien

fraferfea fofm deft o & et s g @ @ 7
a) faveiwumenss f=ft  (b) SRR el

(c) Tumemss dsft (d) Sugwa # @ T

;‘:n fo  faft= gomavel &1 argaa s

&l 10, 11, 16, 17, 12, 13, 17, 16, 16, 12, 16,
10, 15, 16, 10 <A1

(a) 13 (b) 15 ‘

(c) 16 (d) Swfe ¥ | HIg &
forss froshr # ‘ofemr’ Y @ ST R ¢
(a) dIfheh AHR & (b) SATHIT o a0

(c) 3F & (d) Efereran &

foret QA IR w1 oy = ey
faftre & w@ g SR a1 wEeTd |, o e
TR Tfgd g

(a) =l gea ug  (b) TS dhay
(c) MG T 9g (d) TAT HEAH
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88.

89.

90.

91.

92.

93.

9%4.

The missing number (?) in the following series :
60, 180, 90, 270, ?, 405 is

(a) 675 (b) 540

(c) 360 (d) 135

The age of father is twice that the sum of ages
of his two sons. 20 years later, the age of father
will become the sum of ages of his two sons. The
present age of father is
(a) 40 years
(c) 30 years

(b) 60 years
(d) 50 years

Complete the sequence with the correct option
from the following codes :

EGIK: FILO:: FHJL: ?

(a) JGMP (b) JGPM

(c) GJPM (d) GJMP

How many 4's are there in the following which
are preceded by 7 but NOT followed by 3 ?
59321742697461328741383256
74395820187463

(a) Four (b) Three

(c) Six (d) Five

In a row of boys, if A who is 10t from the left
and B who is 9t from the right, interchange their
positions, A becomes 15t from the left. How
many boys are there in the row ?

(a) 24 (b) 31

(c) 23 (d) 28

Arrange the words given below in.a meaningful
sequence :

1. Presentation

2. Recommendation

3. Arrival

4. Discussion

5. Introduction

(a) 3,5,1,4,2 (b) 5,3,4,1,2
(c) 3,5,4,2,1 (d) 5,3,1,2,4

3 men or 7 women finish a work in 32 days.
7 men and 5 women together will finish the twice
of this work in
(a) 19 days
(c) 27 days

(b) 21 days
(d) 36 days
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Frerfirfea sjaen &
60, 180, 90, 270, ?, 405 & e TEAT (?) B
(a) 675 (b) 540

(c) 360 (d) 135

fa i o11g 38H @ G AT MY F A A g
2 1 20 99 wvsq foar it g SF G Y
IR o SR B SR | R < e 3y ]

(a) 40 =¥ (b) 60 a4

(c) 30 T (d) 50 a¥

frfaRaa e wehdl § @ w8 faehed R 7T i
ot hifre

EGIK: FILO:: FHJL: ?

(a) JGMP (b) JGPM

(c) GJPM (d) GJMP

frfafga & foram W@ 4 2 o Teat 7 8, afe
e d 37ER ?

59321742697461328741383256
74395820187463

(a) =R (b) =

(c) ®: (d) 9=

TSI ol Th UfFd | Ife A, o5 AR T 109 &IH
W g IR BTE N A 9d TWH W g, I g 3
TYH ! 9T § ¢ d &, df ASTE IR A 154
T gl AT 2 | ufe H ot fohad oigsh & 7

(a) 24 (b) 31
() 23 (d) 28

Ho fou M wsci 1 wdfes e H sqafedd hifv
1. w&gfa

2. el

3. JATHA

4, 9=t

5. =™

@) 3,5,1,4,2 (b) 5,3,4,1,2

©) 3,5,4,2 1 d) 5,3,1,2,4

3 HTGH! 1 7 A Teh i i 32 fed # QU = od
g | 7 3t 3R 5 3 fere 3@ g S &

T S
(a) 19 feai & (b) 21 femi &
(c) 27 fet & (d) 36 fei &
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Twotrains of length 127 mt. and 98 mt. aremoving | 95. 127 e 3kt 98 ey ol &) Yermieat fywda et
in opposite directions with speed 35 km/hr and T SR 35 fohaft. /g e 55 fhaft. /ger it 91 @
55 km/hr respectively. After meeting they will S @ R | fien % fea e ae 3 - W
cross each other in IR T TR ?
(a) 6 seconds (b) 8 seconds (a) 6THTE (b) 8 THTE
(c) 9 seconds (d) 10 seconds (c) 9 qHTs (d) 10 Thvs
If x3 + y3 = 35 and xy = 6, x > y, then value of | 96. afe x3+y3=353M xy =6, x>y, d (x—y) =
(x —y) will be oM gRT
(a) 1 (b) 2 (@ 1 (b) 2
(c) 3 (d) None of the above (c) 3 (d) ST & | HIS A&
If (x — 1) and (x + 1) are two factors of the | 97. afg agug x6 - 1% < HEE (x - 1) T
polynomial x8 — 1, then its other factors are (x + 1), at 3T% 3= TUFETE ?
(8) O+ 1), (2 +x+ 1) (a) (x2+1), (x@+x+1)
(b) (2 +1), (@ =x~-1) (b) (X2 + 1), (X2 =x — 1)
(©) (P =x+1), (@ +x+1) ©) 0@ =x+1), (2 +x+1)
(d) (2=x=1),(x2+x-1) (d) @=x=1), (x2+x-1)
Arectangularfield is 112 mt. longand 62 mt. broad. | 98. TH IFATHR @d H! s 112 . qur =ter
A cubical tank of edge 6 mt. is dug at each of the 62711, 2 | 6. TFIR =T T TR 3% @d & TR
four corners of the field and thg soi! SO removed FH W @R T Ik it geré wh @ - @4
is evenly spread on the remaining field. Find the fara1 foen e 3
rise in the level of the field. = S o S
(a) 13.13 cm (b) 11.9.cm (a) 13.13 &t (b) 11.9 %t
(c) 12.7 cm (d) 14.24 cm (c) 12.7 q#ft (d) 14.24 3t
The radius of a solid sphere of a metal is | 99. ot aTg % T 3 et i s 38+ 2 | 3899
3 cm. How long wire of diameter 4 mm can be 4 Torft =@ 1 e o AR @i S A ® 7
drawn from it ?
(a) 8.8 mt. (b) 9.0 mt. (a) 8.8 X (b) 9.0
(c) 9.6 mt. (d) 9.1 mt. (c) 9.6 fix (d) 9.1
Seventeen candidates appeared in an | 100. g Jnreff forelt whan & wfthfer g3 | S anreff
fe)f!an;i_na:ir:)n. The .malrks of th1eoc:ngid;t:s ;Nh7o : whter m@aﬁm 10,9,6,7,8,8,7, 5,
ailed in the examination are 10, 9, 6, 7, 8, 8, 7, - . %
5, 4, 6. The median of marks of all seventeen 4,63 | il Wi % I ?
candidates is (a) 6
(@) 6 (b) 7
(b) 7
(C) 9 (C) 9
(d) None of the above (d) e T & IS T&T
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<« To mark Answer use Black Ball-point Pen only.

<4
<« Candidate must read all the instructions before writing the answers.

< You are to mark your answer on Answer-Sheet only. After the examination is over, handover the
4 original Answer-Sheet to the Invigilator. :

: £ DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO. “:
< b
< CODE : RFL- I 2020 "
{suB : ( SERIES )

<

< GENERAL STUDIES -II A

<

<

: Time : 2 Hours - Max. Marks : 200

‘ o

: Write your Roll Number In numbers

< =5

: in the box In words

|

A

|
:1.
4 2.

e
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_ This Test Booklet contains 100 questions. Each question has four (4) options which are given

. If you happen to find that the Booklet issued to you does not have all the pages properly printed

. In this question booklet questions are printed in both English and Hindi languages. In case of any
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IMPORTANT INSTRUCTIONS

Answer all questions. All questions carry equal marks.

The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the
Answer-Sheet, otherwise the Answer-Sheet will not be evaluated and the candidate will be solely p.
responsible for it.
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\A A4

below the questions. Only one option is correct out of four. You are required to darken the circle p
corresponding to the alternative which you consider to be the correct or most appropriate answer p
in the Answer-Sheet by Black Ball-point Pen.

Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for
rough work given in the last two pages of Test Booklet.

or it has any other deficiency, then you need to approach the Invigilator to get another Booklet of
same Series and Code.

ambiguity in the question the English version of the question shall Prevail.

Penalty for wrong answers : :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

ANSWER SHEET.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will
be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty

for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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